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QUESTION 1
The following query is executed frequently against the EMPLOYEE table:

SELECT empid, salary, bonus FROM employee ORDER BY bonus, salary; Which statement will create an index for
optimal query performance?

A. CREATE INDEX salary_bonus_idx ON employee (salary, bonus)
B. CREATE INDEX bonus_salary_idx ON employee (bonus, salary)
C. CREATE INDEX bonus_salary_idx ON employee (bonus, salary) CLUSTER
D. CREATE INDEX salary_bonus_idx ON employee (salary, bonus) CLUSTER

Correct Answer: C

QUESTION 2

Which operation can be performed by executing an ALTER STOGROUP statement?

A. Change the name of an existing storage group.

B. Make an existing storage group the default storage group.

C. Reduce the current high water mark of all table spaces that have been assigned to a storage group.

D. Specify the average time, in milliseconds, that it takes to read one page of data from the slowest storage path used
by a storage group.

Correct Answer: B

QUESTION 3

To configure instance-level auditing with db2audit, which authority is required?
A. SYSADM

B. SYSCTRL

C. SECADM

D. SYSMAINT

Correct Answer: A

QUESTION 4
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If the following commands complete successfully for a single partition database: CREATE DATABASE mydb;
CREATE BUFFERPOOL mybp; Which statement is true?

A. Self tuning is enabled for the MYBP buffer pool.

B. The initial size for the MYBP buffer pool is zero pages.

C. The database has to be restarted before the MYBP buffer pool will become active.

D. The page size for the MYBP buffer pool can be changed using the ALTER BUFFERPOOL statement.

Correct Answer: A

QUESTION 5

The following query is executed frequently against the SALES table:

SELECT sales_id, sales_date, sales_person FROM sales;

If data in the SALES_ID column is unique,

Which statement will create an index for optimal query performance and ensure uniqueness of the SALES_ID column?
A. CREATE INDEX sales_idx ON sales (sales_id, sales_date, sales_person)

B. CREATE UNIQUE INDEX sales_idx ON sales (sales_id, sales_date, sales_person)

C. CREATE INDEX sales_idx ON sales (sales_id) INCLUDE (sales_date, sales_person)

D. CREATE UNIQUE INDEX sales_idx ON sales (sales_id) INCLUDE (sales_date, sales_person)

Correct Answer: D
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